
Page 1 of 6B-HDCM10-010-0.FM Broadcast Products Technical Bulletin 20-2010-086

HD Color Camera

DATE: June 21, 2010

DESCRIPTION

The following parts related to the lens mounting mechanism are 
available as service parts. (See Figure 1.)

Description Part No.

Sleeve back mount 9-885-145-06

Guide plate 3-776-897-02

Bolt (M2×15), 2-621-755-21
hexagon socket

Figure 1

SLEEVE BACK MOUNT

GUIDE PLATE BOLT (M2×15) HEXAGON SOCKET

SLEEVE BACK MOUNT

GUIDE PLATE

BOLT (M2×15)MOUNT RING

MOUNT LEVER

SCREW (+K2×3)

Broadcast Products
Technical Bulletin 20-2010-086

SUBJECT: PARTS REGISTRATION—LENS MOUNTING 
PARTS

HDCM10-010

MODEL: HDC-900
HDC-900/1
HDC-900/2
HDC-900/3
HDC-900/3
HDC-900/3T
HDC-900/4
HDC-900/4
HDC-900/4T
HDC-910
HDC-910
HDC-910/1
HDC-910/1
HDC-910/1T
HDC-910/T
HDC-930
HDC-930/1
HDC-930/1T
HDC-930/T
HDC-950
HDC-950/1
HDC-950/2
HDC-950/2T
HDC-950/3
HDC-950/3T
HDC-F950
HDC1000//ULW
HDC1000/LB
HDC1000/LB
HDC1000/LW
HDC1000/LW
HDC1000/LW1
HDC1000/LW2
HDC1000R/LB
HDC1000R/LB
HDC1000R/LB1
HDC1000R/LB1
HDC1000R/LW
HDC1000R/LW
HDC1000R/LW1
HDC1000R/LW1



Page 2 of 6B-HDCM10-010-0.FM Broadcast Products Technical Bulletin 20-2010-086

ORDERING INFORMATION

To order parts online, go to: www.sony.com/servicesplus. For 
service or parts ordering assistance, refer to the following 
document, which lists all contact telephone numbers:

Technical Bulletin 00-1999-000

REPLACEMENT PROCEDURE

Sleeve Back Mount

1. Install the new guide plate to the new sleeve back mount 
with two +K2×3 screws (7-627-452-18).

2. Remove the bolt. (See Figure 2.)

Figure 2

3. Turn the mount ring counterclockwise, and detach the mount 
ring. (See Figure 3.)

Figure 3

REMOVE BOLT

REMOVE MOUNT RING

COUNTERCLOCKWISE

MOUNT RING

HDC1400//UL
HDC1400/L
HDC1400/T
HDC1400/T
HDC1400R//UL
HDC1400R/L
HDC1400R/L1
HDC1400R/T
HDC1400R/T
HDC1400R/T1
HDC1400R/T1
HDC1400R=UL1
HDC1450//UF
HDC1450/K
HDC1450R//UF
HDC1450R/K
HDC1450R/K1
HDC1450R=UF1
HDC1500//UL
HDC1500/L
HDC1500/L
HDC1500/L1
HDC1500/L2
HDC1500/T
HDC1500/T2
HDC1500R//UL
HDC1500R/L
HDC1500R/L1
HDC1500R/T
HDC1500R/T
HDC1500R/T1
HDC1500R/T1
HDC1500R=UL1
HDC1550//UF
HDC1550//UF1
HDC1550/F
HDC1550/K
HDC1550/K1
HDC1550/K2
HDC1550R//UF
HDC1550R/K
HDC1550R/K1
HDC1550R=UF1
HDC1580/L
HDC1580/L1
HDC1580/T
HDC1580R/L
HDC1580R/L1
HDC1580R/T
HDC1580R/T1
HDC3300/L
HDC3300/L
HDC3300/T
HDC3300/T

http://www.sony.com/servicesplus


Page 3 of 6B-HDCM10-010-0.FM Broadcast Products Technical Bulletin 20-2010-086

4. Remove the seven bolts, and remove the former sleeve back 
mount. (See Figure 4.)

Figure 4

5. Affix the new sleeve back mount with the seven bolts. 
(See Figure 5.)

Figure 5

REMOVE BOLTS

SLEEVE BACK MOUNT

MOUNT RING

SLEEVE BACK MOUNT

HDC3300R/L
HDC3300R/L
HDC3300R/L1
HDC3300R/L1
HDC3300R/T
HDC3300R/T
HDC3300R/T1
HDC3300R/T1

SERIAL NO: ALL

Italicized information in green applies to 
customers outside the United States.



Page 4 of 6B-HDCM10-010-0.FM Broadcast Products Technical Bulletin 20-2010-086

6. Turn the L-shaped lever counterclockwise as far as it will go. 
(See Figure 6.)

Figure 6

7. Install the mount cap. (See Figure 7.)

Figure 7

L-SHAPED LEVER 

MOUNT CAP



Page 5 of 6B-HDCM10-010-0.FM Broadcast Products Technical Bulletin 20-2010-086

8. Install the mount ring, turning it clockwise as far as it will 
go, and install the black M2×15 bolt half-way in. 
(See Figure 8.)

Figure 8

9. Turn the mount ring counterclockwise as far as it will go. 
(See Figure 9.)

Figure 9

TURN MOUNT RING CLOCKWISE

INSTALL BOLT
HALF-WAY

TURN MOUNT RING
COUNTER CLOCKWISE



Page 6 of 6B-HDCM10-010-0.FM Broadcast Products Technical Bulletin 20-2010-086

10. Tighten the black bolt completely without interfering with the 
L-shaped lever. (See Figure 10.)

Figure 10

11.Turn the mount ring clockwise as far as it will go, and 
confirm that the sleeve moves back. (See Figure 11.)

Figure 11

TIGHTEN BOLT

L-SHAPED LEVER

BOLT

SLEEVE

TURN MOUNT RING CLOCKWISE


